R(c/b)

Ratio to CMS

12

10

0.5

13000 GeV pp Z+Jet
o L L L L B B o
— —5
B pT(Z) ratio (CMS Z+c and Z+b) 13
- 1
| m  CMS jis
| —&— Pythia 8.308 default N
| ---4-- Pythia 8.308 default-CD 13
| ----- Pythia 8.308 default-DL e
L A Pythia 8.308 default-MBR — §
— —x
— — <
™
— =
(9]
— —©
o
— —™
—
— .=
— =
S,
B e
- | O
c
_ 1o
O
I 1 wn
= 4o
o
- (&)
_! — : 1 I_ =
— —2
§ 1
P A :
- . * —
— | | —0.5
| L 1 1 1 1 L | L ';' L 1 L 1 L 1 L | L 1 L 1 L 1 L 1 L ‘\l L 1 L 1 ; 1 L 1 L |
0 50 100 150 200

p. (2) [GeV]



	Contents
	Page 1


